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0 + y→ y

s(x) + y→ x + s(y)

f(x, y)→ z⇐ x + y→∗ z + v

n = sn(0)

f(1, 0)→

0

1 + 0→ 0 + 1
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Method 1

• `→ r ∈ R
• x ∈ V(r) \ V(`)
• r ∈ NF(Ru)

Example 1

a→ g(x)

a

g(x) g(y)

Method 2

• unconditional CP s ≈ t
• s ��↓Ru t

Example 2

p(q(x))→ p(r(x))

q(h(x))→ r(x)

p(q(h(z)))

p(r(h(z))) p(r(z))



Non-Confluence in ConCon so far 3/8

Method 1

• `→ r ∈ R
• x ∈ V(r) \ V(`)
• r ∈ NF(Ru)

Example 1

a→ g(x)

a

g(x) g(y)

Method 2

• unconditional CP s ≈ t
• s ��↓Ru t

Example 2

p(q(x))→ p(r(x))

q(h(x))→ r(x)

p(q(h(z)))

p(r(h(z))) p(r(z))



Non-Confluence in ConCon so far 3/8

Method 1

• `→ r ∈ R
• x ∈ V(r) \ V(`)
• r ∈ NF(Ru)

Example 1

a→ g(x)

a

g(x) g(y)

Method 2

• unconditional CP s ≈ t
• s ��↓Ru t

Example 2

p(q(x))→ p(r(x))

q(h(x))→ r(x)

p(q(h(z)))

p(r(h(z))) p(r(z))



Non-Confluence in ConCon so far 3/8

Method 1

• `→ r ∈ R
• x ∈ V(r) \ V(`)
• r ∈ NF(Ru)

Example 1

a→ g(x)

a

g(x) g(y)

Method 2

• unconditional CP s ≈ t
• s ��↓Ru t

Example 2

p(q(x))→ p(r(x))

q(h(x))→ r(x)

p(q(h(z)))

p(r(h(z))) p(r(z))



Conditional Narrowing 4/8

0 + y→ y

s(x) + y→ x + s(y)

f(x, y)→ z⇐ x + y→∗ z + v

σ = {x 7→ x1, x3 7→ x1, x4 7→ x2}

f(x, y) σ

x1

x1 + x2  
∗
σ x1 + x2

τ = {x 7→ 0, x1 7→ 0, x2 7→ x3 + x4, y 7→ x3 + x4, y1 7→ x3 + x4}

f(x, y) τ

x3

x1 + x2  τ x3 + x4
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Thank you for your attention!


